
CBG.13 Meiosis and Linkage 

Meiosis  

 

 

Summary 

 Start:  two homologs/homologous chromosomes 

 Replication;  two dyads 

 Pairing:  tetrad 

 1st division:  one dyad to each daughter cell 

 2nd division:  one chromatid to each daughter 

cell 

What happens to alleles? 

 Start: one homolog carries “A” and one carries “a” 

 Replication: one dyad is AA and one is aa 

 Pairing: tetrad is A/A/a/a 

 1st division: one cell AA, the other cell aa (crossing 

over can mix these types of products, but ratio 

unchanged) 

 2nd division: 4 cells, two of type A and two of type a 

Objectives:  

 Discuss the stages, key events and outcomes of meiosis 

 Argue that behaviour of chromosomes during meiosis can explain the patterns of inheritance posited by Mendel 

 Discuss that genes showing linkage are present on the same chromosome (syntenic) and are always inherited together unless there are ‘cross-overs’ resulting in 

genetic recombination 

 Discuss that genes further apart have a higher likelihood of crossing over and so the frequency of recombinant progeny (%Rf) produced is much higher than for 

genes closer together 
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